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- g = coexsec B

exsec A = PT = exsec B

Ry

co

2

1— Cos A

cos 2A = cos? A—gin? A

I'sin 24 = 2sin A cos

sin C!

sin B

sin A

. Law of Sines

Cc

B
a2--p?—2ab cos C

a

] Taw of Cosines c?

tan 14 (A-+B)
tan 14 (A—B)

a-+b

Da—b

iy I |
| | e
e
1 o

i { Law of Tangent

(oS-SS




By | f‘"i AR
b 'i—'[ i :"tibeiséc A = PT = exsec B

a2

TasrLe II
TRIGONOMETRIC FORMULAE
/B = /PON = ZOPL

=0Q =csc B =0Q

= OT =sec B = OT
| LM = covers B #

I T 33
| |- =QP—LP = vers B

| |=ry = coexsec B

gin %A=‘/l_'_g_°3_5_ cos L4A =
gin 2A = 2 gin A cos

in A in B in C!
Law of Sines Eu; = m]; = m(lj

Taw of Cosines ¢? = a2-+p?—2ab cos C

atbh  tan 14 (A+B)
Law of Ta;ngentua__b = s D)

cos 2A = cos? A—sin? A

14+Cos A
2




DisTANCES FROM SipE STAEES FoR CROSS-SECTIONTNG
SrorE 134 To 1. ROADWAY OF ANY WIDTH

o 1 2 3 4 5 6 It 8 9
0 0.00 0.1 0.30 0.45 0.60 0.75 0.60 1.05 1,20 1.3
1 1.50 | 1.8 1.80 1.95 2.10 2.25 2.40 2,55 2.70 2 .85
2 3.00 3.1 3.30 3.45 3.60 3.7 3.80 4.05 4.20 4.35
3 4 .50 4.6 4.80 4.95 5.10 5.2 5.40 5.65 5.70 5.85
4 | 6.00 6.1 6.30 6.45 6.60 6.7 6.90 7.05 7.20 7.35
5 7.50 7.65 7.80 7.95 8.10 8.2, 8 .40 8.55 8.70 8 85
6 9.00 9.15 0.30 I 9.45 9.60 9.7 9.90 | 19.05 | 10.20 | 10.35
7 0.50 | 10.65 |-10.80 | 10.95 [ 11.10 |, 11.2 11.40 | 11.55 | 11.70 | 11.85
8 200 | 12.15 [ 12.30 | 12.45 | 12.60 | 13.7 12.90 | 13.05 | 13.20 | 13.35
9 3.50 | 13.65 | 13.80 | 13.495 4.10 | 14.2 14.40 | 14.55 | 14.70 | 14.85
10 5.00 5.1 15.30 | 15.45 5.60 | 15.7 15.90 | 16.05 | 16.20 | 16.35
11 6.50 6.6, 16.80 | 16.9. 7.10 | 17.2 17.40.| 17.55 | 17.70 | 17.85
12 | 18.00 8.1 18.30 | 18.4 8.60 | 18.75 8.00 | 19 05 | 19.20 | 19.35
13 9. 50 9.6 19.80 | 19.9. 0.10 | 20.2 20.40 | 20.55 | 20.70 | 20.85
14 1.00 1.1 21.30 | 21.4 21.60 | 21.7 1.90 | 22.05 | 22.20 | 22.35
15 2. 50 2.66 | 22.80 | 22.9 23.10 | 23.2. 3740 | 23.55 | 23.70 | 23.85
16 400 4 15 | 24.30 | 24.4 24.60 | 24.7 4.90 | 25.05 2 25.¢
7 5 .80 5.60 | 25.80 | 25.9 26. 2 5 6.40 | 206,95 7 26.
8 700 | 27.15 | 27.30 | 27.45 | 27.6 2775 7.90 | 28B.05 28, 38
9 | 28.50 | 28.65 | 28.80: | 28.95 | 29. 9 25 | 29.40 | 29.55 9.85
0 0.00 | 30. 30.30 | 80.45 0. 75 | 30.80 | 31.05 1.35
1 1.50 | 31, 31.80 | 31.05 2. 2 25 | 32.40 [ 32.55 2.85
22 | 33.00 | 33. 33.30 | 33.4 3. .75 | 33.90 | 34.05 435
23 | 34.50 s 34.80 | 34.0 3. .25 5.40 | 35.55 5.85
4 | 36.00 6. 36.30 | 36.4 36 5. 75 6.90 | 37.05 7.35
5 | 37.50 7.65 | 37.80 | 37.895 | 38. \25 8. 40 | 38.55 5. 85
6 | 39.00 | 39.15 | 39.30 | 39.45 | 3D. .75 9.90 | 40.05 44). 35
7 | 40.50 | 40.65 | 40.80 | 40.95 | 41. .25 2 41.55 41.85
8 | 42.00 | 42.15 | 42.30 | 42.45 | 42. 2. 75 43.05 43 .35
9 | 43.50 | 43.6 43 80 | 43.95 | 44. 225 44 55 e
0 | 45.00 | 45.1 4530 | 45.45 | 45. 5.74 46.05 46
1| 46.50 | 46.65 | 48.80 | 46.95 | 47. .25 47 .55 7.8
2 | 48.00 | 48.15 | 48.30 | 48.45 8. .75 49 .05 .35
3 | 49.50 | 49.65 | 49.80 | 49.95 0. .25 50. 55 0.85
4 | 51.00 | 51. 51.30 | 51.45 |.51. .13 52.05 2. 35
5| 62.50 | 52. 52.80 | 52.95 3. 3.25 53.55 3.85
G | 54.00 | 54. 54.30 | 54.45 g .7h 85.05 5.35
37| 55.50 |-55.6 55.80 5 2 .25 56.55 5685
38 | 57.00 | 57.1 57.30 - i .75 58.05 58.35
39 | 58.50 | 58.6 58.80 i 2 .25 St &5 59.85
40 | 60.00 | 60.15 | 60.30 | 60.45 | 60. .75 61.05 G1.33
4] | 61.50 | 61.65 | 61.80 | 61.95 | 62. .25 62. 55 6285
42 | 63.00 | 63.15 | 63.30 [ 63.45 | 63. .78 64.05 o4 3.
43 | 64.50 | 64.65 | 6£.80 | 64.95 | 65. .25 65.55 65.8
44 | 86.00 | 66.15 | 66.30 | 66.45 | 6B. .75 67.05 G673
45 | 87.50 | 67.65 | 67.80 | 67.95 | 68. .25 68.56 A8.8
46 | 69.00 | 69.15 | 69.30 | 69.45 | 69. .75 70.05 70.3
47 | 70.50 | 70.65 [ 70.80 | 70.95 | 71. .25 71.55 71.8:
48 | 72.00 | 72.15 | 72.30 | 72.45 | 72. .75 73.06 73.30
49 | 73.50 | 73.65 | 73.80 | 73.95 | T4. .25 74.55 74 85
50 | 75.00 | 75.15 | 75.30 | 75.45 | 75. 75.75 76.05 76.35

|
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Distance of slope stake from side or shoulder stake for any width roadway,

ground is nearly level, the cut or fill at side stake is loeated by the double entry meshad 1
of table in same row and column gives distance from

column and top row. The number in body

slope 134 to 1. If
o left !

side stake to slope stake, If ground is nof level estimate the difference in elevation between the

slde stake and slope stake, lower target by this amount if cut, elevate if @l Add thi
cut or fill and find distance in table. Set up rod at this point,

1f it does not make the slight adjustment necessary.

s amount to
and line of sight should cut target.
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